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Vocabulary

getat miE.mEdk

in No time 784k

meddle in - F#H, T

no sooner ... than —-gk--

stay up ¥, A%

under no circumstances & i A

5 Part I Statements

Directions: In this part, you will hear fifteen statements. A fter each statement , you will be
given 10 seconds to answer each of the following fifteen questions. The statements will not
be repeated.
1. What does the speaker mean?
A. The office was much colder than yesterday.
B. It is necessary to keep the office cold.
C. The office was too cold.
2. What do you learn about Greg?
A. He couldn’t play games because he was tired.
B. While playing games, he fell asleep.
C. He played computer games all night.
3. What is said about Martha?
A. She doesn’t like white coffee.
B. She is now accustomed to black coffee.
C. She thinks that the coffee has made her feel better.

4. What does the speaker imply?
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A. You definitely shouldn’t lend him any money. .-
B. You lent him some money under special circumstances.
C. You mustn’t borrow money from him.
5. What does the speaker suggest?
A. Does anybody care about what to drink?
B. Does anybody want any drinks?
| C. People don’t care what they are going to drink.
6. What does the speaker say about Jeff?
A. He interfered in her affairs.

B. He also operates several businesses.

oS
2 C. He is in the business of selling metals.
7. What was Larry probably doing?
S A. He was doing the dishes.
(] B. He was shopbing. .

C. He was cooking.
N 8. What can be concluded about Susan?

A. Her mother is going to see her tomorrow.

B. Her mother will arrive in eight days.
C. Her mother will be staying with her for a week.
9. What do you know about Henan?
A. Henan is the speaker’s favorite province.
B. Henan is the province with the most people.
C. Henan is so popular.
10. Who is probably the speaker?
A. A telephone operator.
B. A cashier.
C. A statistician.
11. What does the speaker suggest?
A. Buying a fan from Paul.
B. Playing with Paul.
C. Following Paul’s example.
12. What does the speaker mean?
A. 1 was wrong to have relied on you.
B. I never relied on you.

C. I think I can rely on you.



13.

14.

15.

What can be inferred about the speaker?

A. You are explaining what I don’t understand.
B. I’m beginning to understand you.

C. What you are saying is unclear to me.

What does the speaker imply?

A. He was unable to go home because he was on the phone.

B. The phone rang right after he arrived home.

C. After the phone rang, he arrived home.

What does the speaker mean?

A. Frank would be a great help to her.

B. There’s no time for Frank to help her.

C. She’ll probably get the car fixed in time to help Frank.

Vocabulary

final (N.)  (EAEEHOKRFEELHRK
get (or have) cold feet IspEB 45
hold it =

surplus (adj.) 4w

P @
Ej.@;’Part I Conversations

questions. The conversations will not be repeated.
1.

Where does this conversation take place?
A. At the jewelry department.
B. At the men’s department.

be in the same boat 4 FRMECEEAREM)EH
be on the edge of one’s seat  xt--- &

stick with something 4esE it ®, BRI MEE

Directions; In this part, you will hear ten short conversations between two people. After

each conversation, you will be given 10 seconds to answer each of the following ten
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10.

C. At the women’s department.

What conclusion can we draw from this conversation?

A. They will be travelling by boat.
B. They both have to study all night.
C. They are on the same boat.

What does the man mean?

A. The review session will help him prepare for his final.

B. His finals will take place at one today.

C. The review session lasts for two hours.

. What does the woman think of the class?

A. Interesting.
B. Boring.
C. Difficult.

. What does the woman want the man to do?

A. Hold the refrigerator.
B. Wait,
C. Move the refrigerator.

. What does the woman imply?

A. All of the classes are full.

B. The man has a choice of which class to take.
C. The man cannot attend the early class.
What does the man suggest the woman do?
A. Continue to work on her paper.

B. Take a break from writing.

C. Extend the length of her paper.

Why did she cancel the wedding?

A. Because she was afraid to get married.
B. Because she was sick.

C. Because she hurt her feet.

What does the man suggest the woman do?
A. Borrow the bock from the library.

B. Show him the book.

C. Concentrate on completing the paper.
What are the two students doing?

A. They are discussing something,.



B. They are arguing about something.
C. They are helping each other.

Vocabulary

cavity (n.) (FtisHOR
contamination (n.) B
counterpart (n.) xF
crackdown (Nn.) #I#& M4

curb (v.) mR#

diabetes (n.) MRH%

entrench (V.) (i AT BshiES) 4 B s 3
exterminator (n.) (BYXRE

lobby (V.) WLGEN XFFELEWE
mentor (N.) % % % w45 i 44 i )
obese (adj.) GEA)TEEREE
obesity (n.) AT R

on the heels of something EBRAXHEWER
outweigh (v.) #i,xF
preschooler (N.)  *aiiLE
professorship (N.)  #Ef;
resurface (v.) EFHZEHE

rodent (n.) ms# H 3 (R
suspend (v.) g

uostate (adj.) @ K#HH
vending machine (n.) AB#HEHN
vendor (N.) /MR #EIR

]

Part [T News

T

Directions: In this part, you will hear four news items. A fter each news item , you will be
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= given 10 or 20 seconds to answer the questions. The news items will not be repeated.

il STPEPEIIIBII,,
o ANewstftem 1}
2 1. According to the news, the main reason for the ban on the sale of sodas throughout
| the public school system in Philadelphia is that .
A. they may cause type-2 diabetes and dental cavities
| B. they may displace milk drinking
o C. they may cause obesity
2 2. The policy on the sale of sodas in schools was first adopted in
A. Philadelphia B. New York City C. California
e 3. of Americans are overweight.
- A.1/12 B.1/3 C.3/5
N ATPPEIIBIBIDD,,
a News ltem 2 ;

4. Which of the following statements is NOT true?

A. At some science and engineering schools, according to the survey, there may be
more woman professors than female students.

B. According to the survey, it is not uncommon for women to earn their degrees in
science and engineering without having a woman professor or even a female faculty
member.

C. According to the survey, female students are discouraged by the fact that very few
woman professors are hired at the science and engineering schools,

5. The results of Donna J. Nelson’s survey are convincing because

A. she is. a university professor who is famous for several studies on women and
minorities in science

B. the science and engineering schools examined in her study are truly representative
of their kind

C. it was the only survey conducted so far
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A News Item 3 }

L) &
(T CCCCECCLCKK K

6. Which of the following best summarizes the main idea of the news?
A. Rats prompted Chicago school cleanings.
B. Rats suspended the food service at some Chicago schools.
C. Rats caused the crackdown of rodents in Chicago.
7. Which of the following is NOT true?
A. Rats caused the shutdown of 13 Chicago schools.
B. Chicago school cleanings will last about 2 to 3 months.
C. Schools’ officials in Chicago will be punished if rat problems still exist after the

cleaning.

")”,),’))))))‘

+ News Item 4 |

~ Pd
T C LK CCCKC KKK

8. Which of the following best states the purpose of the news?
A. To show that the study works well, especially in older children.
B. To show that too much television can do harm to children’s health.
C. To show that preschoolers can learn to watch less television.

9. According to the news, the study reduced kids’” TV watching by nearly

A. 34 percent. B. 25 percent. C. 20 percent.
10. How many small kids are studied in the research?
A. 43, B. 77. C. 34,
' Vocabulary

eligible (adj.) &K .6 REK
portfolio (n.) x#k
criteria (n.) (B)&#

(B & 8% % — — % % &% %
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Part [V Passages

Directions: Inthis part, you will hear two passages. After each passage, you will be given

20 seconds to do the exercises.

Passage 1 The Introductory Lecture (%

% As you listen to the lecture, answer the following three questions. The passage will not be
repeated.
1. Which of the following best describes English 4007
A. Tt is the only course students have to take in order to be qualified to take English
1A.
B. It is the first course students have to take in order to pass English 1A.
C. It is one of the courses students have to take in order to be able to take English
1A.
2. What is the main purpose of the lecture?
A. To discuss the importance of English 400. ‘
B. To explain what English 400 aims at and what is required of the students in the
class. o
C. To analyze the situation students are in before they pass 1A.
3. To achieve the goal of English 400, students are required to
A. concentrate on improving library research skills throughout the semester
B. read a lot and write often
C. evaluate their composition assignments and turn in a portfolio of their work at the

end of the semester

Passage 2 The First Day of Class
"‘;"4

Y Listen to the following passage. Altogether the passage will be read to you four times.
During the first reading, which will be read at normal speed, listen and try to understand

the meaning. For the second and third readings, the passage will be read sentence by sen-



tence, or phrase by phrase, with intervals of 15 seconds. The last reading will be read at

normal speed again and during this time you should check your work.

(8 & 8% & — — 8% % % %




Vocabulary

humiliate (v.) #EORIER
miracle (n.) #ik

nothing short of @HEE;LERE
postpone (v.) #3R

Part | Statements

Directions: Inthis part, you will hear fifteen statements. A fter each statement , you will be
given 10 seconds to answer each of the following fifteen questions. The statements will not
be repeated.
1. What does the speaker mean?
A. Why doesn’t Tim look for a teaching job?
B. I think I have seen Tim working at the university.
C. Does Tim know where the university is?
2. What do you learn about the man?
A. He is a millionaire.
B. He is certain to be rich.
C. He really wishes he were rich.
3. What is said about the woman?
A. She wants to have a better opportunity.
B. She is not satisfied with what she has.
C. She is very pleased with the opportunity she has,
4. What can be concluded about Peter?
A. He is often absent.

B. He is very forgetful.



10.

11.

12.

13.

14.

C. He is out of his mind.

. What can be inferred about George?

A. George will oppose Bill in the election.
B. George has decided to have nothing to do with Bill.
C. George ran into Bill, the president.

. Virginia is likely to be a(n)

A. filmmaker B. photographer C. actress

. When will the flight arrive?

A. 4.30, B. 9:30. C. 14:30.

. What does the speaker imply?

A. Surely the match was postponed.
B. Why was the match postponed?

C. Are you certain the match was postponed?

. How much rent does Jim have to pay per month?

A. §270. B. $ 540. C. $217.
What do you know about Mary?

A. Mary plans to avoid getting angry with her husband if possible.

B. Mary will help her husband without the slightest hesitation.
C. Mary will need help if she gets angry with her husband.
What does the speaker suggest?

A. Jim often feels humiliated.

B. Jim felt ashamed today.

C. This is the first time Jim has felt humiliated.

What does the speaker mean?

A. Let’s stay for a moment longer.

B. Keep our words secret.

C. Stay put in here.

What does the speaker imply?

A. Tt cost Mike a lot to recover.

B. It was impossible for Mike to recover.

C. It’s very surprising that Mike recovered.

What does the speaker mean?

A. It’s taking a long time to do grading work.

B. I have just a little more grading work to do.

C. Few students’ papers have been graded.

11




